End span | End span | Internal span | Internal span Top edge capping . 18 dia. hole

pre—painted 'mist 20 dia. vent hole\

100

Post = Setting out line , \ Galvanizing on inside of 12mm dia. drilled hole
S e — 7?74:}777777777774%7777777 green’ 1.0mm _ | 9 - !
= = - thick BMT steel 14 gauge galv. - is not to be damaged during construction
PLAN — STAGGERED LAYOUT e pressed to shape hexagonal head x RN I
90mm long screw.
Al other details similar to sawtooth layout (if required) 8¢ \M1O bolts, nuts &
Plywood —+—* — Galvanized clouts e ™ washers @ 500 crs.
100 _min. | Internal_span Internal_span panel staggered at 500 Battens
100 min._| = \ ‘ = | = 100 min. TOP EDGE CAPPING DET;rlsl: / Plywood panels
End span End span ‘ 100 min. ik ASSEMBLY DETAIL
Post identification to be ‘

visible from non road
side

T — = . L Setting out line

150
max.

Full height acoustic seal

75 x 38 rough sawn or 70 x 35 DAR

| = ,’J—_(: N W
e . \ I Ll
DIRECTION OF TRAFFIC —== as specified in MRST1.15 | ! - \I_W ﬂ@j’r
preservative treated softwood battens | — Plastic tongue | m

PLAN — SAWTOOTH LAYOUT ﬂ: joint between
plywood panels ﬂ_ﬂ GENTLE SLOPE m m STEEP SLOPE

Capping of top of RHS/SHS, 20 dia. vent hole Plywood fasteners h BARRIER TREATMENT ON SLOPES
and installation/maintenance hole, refer "Detail A” Structural plywood panels (M10 bolts) at 500 crs. ! NOTES:

SECTION 1. ALL DIMENSIONS to be verified on site by Contractor before fabrication of
steel posts.

- | o
~ TL 2. POSTS to be RHS/SHS grade 350 to AS 1163.
W 3. ALL HOLES IN POSTS shall be drilled prior to hot dip galvanizing to
Wi AS/NZS 4680.
4. ALL STEEL POSTS shall be identified by welding (or by other method
approved by the Superintendent) the barrier label and post number on the
¢_Post barrier post. This shall be carried out prior to galvanizing and shall be
clearly visible after galvanizing. eq. [B2] ie. Barrier B, Post No. 2.
10 5. POSTS to have weld splatter and welding slag removed prior to hot dip
ré galvanizing to AS/NZS 4680.
y 6. STEEL PLATES to be Grade 250 to AS/NZS 3678.
+ T +4 7. WELDING SYMBOLS are to AS 1103.3. Welding to be to AS/NZS 1554.1.
S . SCREWS shall be self tapping 14 gauge Type 17 and 14 gauge hexagon
‘ Bottom plate head as specified in MRS11.15 Noise Barriers.
‘ | ‘ ] —L -l— oL 125 x 5 9. WASHERS for screws shall be 32mm OD Dekfast Part No. DS332145
\/T:V/ \ }\ 87 Ny ”' T metal/bonded washers or approved equivalent. The support material shall be
: |
! |
\

o
Batten fasteners 100 | S’i

M

Tk \

T

¢3
4

i
lwf

75 x 38 rough sawn or 70 x 35 ————=M |
DAR preservative treated softwood
battens

2>
S

e p— ——

Barrier height

Plywood fasteners @ 500 crs.
Hexagonal head galvanized M10 i
1
|

12 dia. drilled holes
@ 500 crs. refer Note

4

dia. bolts, nuts & L.S. washers.

I
| |~

—F = —F ———
N~

100

500

max
125
[ee]

SECTIONAL PLAN 1mm galvanized steel or approved equivalent and the moulded material
shall be EPDM Polymer.

10. BOLTS to be grade 4.6 to AS/NZS 1111, nuts to be grade 5 to AS/NZS
1112 and LS washers to AS 1237.

RHS/SHS 11. BOLTS AND NUTS to be hot dip galvanized to AS 1214 and washers to be
- hot dip galvanized to AS/NZS 4680 unless shown otherwise.

Bottorn pv ' ‘ 12. M10 BOLTS to be positioned so that the head is on the road face side of
the noise barrier.
125 x 5 1

N
|
. +— 13. FOOTING DIAMETER shall be 450mm unless shown otherwise.

N 4 \ ELEVATION 14, PLYWOOD shall be stress grade F14 or better to AS/NZS 2269 and shall
‘ Bottom plate, 450* be treated to hazard level 4 (H4) if in contact with the ground and to

| refer "Detail B” dia. DETAIL (B hazard level 3 (H3) elsewhere.

U End spon | Internalspan | % Refer Notes 13 and 16 . 15. TIMBER BATTENS shall be structural sawn softwood F5 or better to AS/NZS

I | ELEVATION END SECTION 1748 or AS 2858 and treated to hazard level 4 (H4).
|

===

Batten fasteners @
500 crs. 14 gauge
type 17 galvanized
hexagonal head =
screws 90mm  long.

14 gauge galvanized
hexagonal head x 90
mm long screw

(if required) o

14 gauge galvanized hexagonal
head x 90 mm long screw
(if required)

Footing depth

D
Footing depth

Footing depth

£

TAT
‘ i
(L Post W
1
11

e

+50
— L@—zo

i
[~ Post \
|
[

16. CONCRETE GRADE to be N25/20. 45mm min. concrete cover to steel posts.
" 18 dio, installdton/ BARRIER ASSEMBLY DETAIL 17. EXPOSED HOLES IN POSTS shall be filled with silicon prior to post erection.
tlﬁ‘l == mainte;wnce holes 18. DETAILS to be shown elsewhere in the documents:
vent hole Large series washer Layout type Span lengths: End span and internal span

Hexagon head galvanized . Barrier height H Footing depths D
SECTIONAL PLAN Batten M10 bolts Large series washer RHS and SHS post sizes  Footing diameter if not standard 450mm
18 dia. installation/maintenance \ M10 Hexagon head Plywood thickness Barrier labels and post numbers

= 12 dia. driled hole Batten ‘ : ‘ > and po
¢T Post hole both sides. (Top extension Plywood panel \\ - galvanized bolt Extgnsnon rlmt)ugtltngl holes Design permissible wind speed (Vzp)
Plywood panel—¢ i (length varies) ranoge s e‘a|s -

mounting hole where specified).
19. DIMENSIONS are in millimetres unless shown otherwise.

Grind | 4| tthlck capping |
flush /4 / plate | | 1 ASSOCIATED DOCUMENTS:
\

‘ Department of Main Roads Manual of Standard Drawings Roads
3 Bolts vertically Department of Main Roads Manual of Standard Specifications Roads
'_r offset 15mm REFERENCED DOCUMENTS:
= Standard Specifications:
Batten %EE MRS11.15 Noise Barriers
Barrier post RHS/SHS
Extension mounting—

Plywood panel NOISE BARRIERS Queensland Government
L holes where I

Barrier post

20 dia. vent hole

Shaped preservative treated
(H4) softwood packers

100
|
4

25 min.
22 1

Spacing as
- specified s

|
v 7@
—— Post i 7 |

12 dia. drilled hole
for M10 dia. bolt
(Grade 4.6)

. Plywood panel —— Department of Maln Roads
B
\ specified _ ‘ _ .E'T/ \\12 dia. drilled hole LS washer Size A3 Drawing No
| & LS wash IRE STRUCTURAL DETAIL
vasner PLAN

ELEVATION DETAIL . SIDE ELEVATION T RHS AND SHS sTeeL posts| == | 16006
\—/ DETAIL AT ANGLED CONNECTIONS DETAIL AT RIGHT ANGLED CONNECTIONS PLYWOOD PANELS as Date  4/04

1606

shown A|B| | | | |




